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1.1. Upravte výrazy: Upravte výrazy: 
a)a) (6v +3c)(6v +3c)22 ==
b)b) (n (n --2w)2w)22 ==

a) 36va) 36v22+36vc + 9c+36vc + 9c22

b) nb) n22 –– 4w + 4w4w + 4w22



2. Upravte výrazy:  2. Upravte výrazy:  

a) (x a) (x –– s)s) 2 =2 =

b) (3x + 7)b) (3x + 7) 2 =2 =

a)a) XX22 –– 2xs + s2xs + s22

b)b) 9x9x22+ 42x + 49 + 42x + 49 



3.Upravte výraz: 3.Upravte výraz: 

a)a) (4x + 5)(4x + 5) 22==

b)b) (8 (8 –– 3x)3x) 22==

a)a) 16x16x22 + 40x +25 + 40x +25 
b)b) 64 64 –– 48x + 9x48x + 9x22



4) 4) Upravte výraz:Upravte výraz:

a)a) ((2x2x–– 3)3) 22 ==
b)b) (y (y –– 3)3) 22 ==

a)a) 4x4x22 --12x +912x +9
b)b) yy22 --6y + 96y + 9



5)Upravte výrazy:5)Upravte výrazy:

a) (3y + z) 2 =
b) (8 + 5x) 2 =

a)a) 9y9y 22 +6yz +z+6yz +z 22

b)b) 64 +80x + 25x64 +80x + 25x 2 2 



6) Upravte výrazy:

a) (7u-14v)2=
b) (5a-4b) 2=
c) (2t-8a) 2=

a) 49u2-196uv + 196v2

b) 25a2 -40ab + 16b2

c) 4t2 – 32at + 64a2



7) Upravte výrazy:
a) (4a + 2b) 2 =
b) (4x + z) 2 =
c) (2x + u ) 2 =

a) 16a2 + 16ab + 4b2

b) 16x2 +8xz + z2

c) 4x2 + 4xu + u2



8) Upravte výrazy:

a) (2x + 2y) 2 =
b) (5x - 3y) 2 =

a) 4x 2 + 8xy + 4y 2

b) 25x 2 – 30xy + 9y 2



9) Upravte výrazy:

a) (6x - 3y) 2 =
b) (6b + 5) 2 =

a) 36x 2 – 36xy + 9y 2

b) 36b 2 + 60b + 25



10) Upravte výrazy:

a) (-3-4t) 2 =
b) (7-8a) 2 =

a)9 +24t +16t 2

b)49 – 118a + 64a 2



11) Upravte výrazy:11) Upravte výrazy:
a) (9x - y) 2 =
b) (4x + 7y) 2 =

a) 81x 2 – 18xy + y 2

b) 16x 2 + 56xy + 49y 2



12) Upravte výrazy:12) Upravte výrazy:
a) (3y2 - 2y) 2 =
b) (3y - 4) 2 =

a)a) 9y 4 – 12y 3 + 4y 2

b) 9y2 -24y + 16 



13) Upravte výrazy:13) Upravte výrazy:
a) (2a + 5m) 2 =
b) (3x – 7d) 2 =

a) 4a 2 + 20am + 25m 2

b) 9x 2 – 42xd + 49d 2



14) Upravte výrazy:14) Upravte výrazy:
a) (8m + 3y) =
b) (5d - 3y) =

a) 64m 2 + 48my + 9y 2

b) 25d 2 – 30dy + 9y 2



15) Upravte výrazy:
a) (5h - 6j) 2 =
b) (30m + 90e) 2 =

a) 25h2 – 60hj + 36j2

b) 900m 2 + 5400me+8100e 2


